=i TRR314E3 A 29 A 8T

%L%
T

XG4 RMRHEEMERBER

1 EEBRE 2 B{lRE[HA:MAHERE)]

e e || | e | o R 2 pem LT fi%
WRREETR WR| 15,421,448 | 1 | [APF% s wm oo | 350 a3a | w1
9 ILIRERS| 15,873,878 | 2 R ) 2 66,239 63,258 | /1
) AFEHEAML| 15,986,643 | 3 | |rids |mwwer |l ; 14,834 42816 | /1
) L= s)— b T TLHE I 1 53,786 51,348 | 1]

% 1B 5 5,740 5,481 | &1

REXEE |BEEHR ® . AR 6 4,065 3,882 | i
R R A7 &R 11 B A P 7 4,101 3,916 | ##/1]
LR 5 8,186 7,817 | 21

BHJE T AdiaA - kA 9 2,279 2176 | /1

N 0 1,953 1,865 | 1
LR 1 3,380 3,227 | /1

BA%E T A (N4Z53) 12 1,032 985 | ##)i

B%E 1 2diaA (N522iH) 13 1,631 1,557 | 1

e 14 891 850 | #i
B 15 821 784 | /1

LAt 16 2,160 2,062 | &4

Hart I e I 7 5,331 5,091 | #H
e B 1 -G 1L LY 18 1,328 1,268 | =1
?(%ﬂ@ﬁ?%t e 12~ Sl 1k - LI 19 704 672 | )1
%’fﬁ'{gﬁm_%) HOEUE240 1.=1000 20 10,055 9,602 | 21
}Ez?ﬁé% fFLERT ?%ﬂg) HGHU240+300 171000 21 6,255 5973 |
L e » 2,312 2207 | 1
Gt g [TEURs00 L1000 2 11,163 10,660 | 721
I 21 6,566 6.270 | 21
Gt U210 1600 2 5,116 5172 | 1
Gl T 2 2,001 1,910 | s
I 2 9,406 8982 | 1
U (fii 22%) U300 1=600 28 8,423 8,043 | #/i
G [ 2 3,112 2,971 |
%’fﬁ”ﬁiﬂ_%) U240t 5 = 7U—h 30 2,634 2515 | /1
?%ﬂg)ﬁ U#1240-300 858 % =27Y—h 31 1,442 1,377 | &1
e » 551 526 | #2/1
Gl gy |voominss rerms | 18,653 17,813 |
B e |vsoomings = ov— 34 2,926 2,794 |
ML U0z -5 | 35 25,096 23,966 | /1
%’fﬁ”ﬁiﬂ_%) U240t 25 = 7Y —h 36 1,117 1,066 | %1
e T e 17,622 16,829 | 2/

1/2



B3 PR3 T4E3 A 29 A #UT

%L%
T

XG4 RMRHEEMERBER

1 RERE 2 HlRE[EA:ABRE)]

e e || | e | o R 2 pem LT fi%
Wcaa WR| 15,421,448 | 1 MLy |vsomsiz 29—t 3 1,429 1,364 | il
M LIRS 15,873,878 | 2 Vel o |vsoossi v—rrron | a9 23,657 22,592 | 1
R FLFEARAK| 15,986,643 | 3 e PV-$07 3 10 552 527 | 1
W Emey - T TEHE 4 WREIAL yv—gur /2y a1 211 201 | 1

U240 42 2,167 2,069 | £

REXE |BRER ® I [ 2,377 2270 | s
(S0 B AR £ A 1 BER) o V0 “ 1,865 1,781 | &1
U300 15 2,076 1,982 | 71

AHUA240 16 677 646 | /1]

%iﬁ%ﬁg A U300 47 796 760 |

U240 18 525 501 | ##/1)

U300 19 637 608 | &/

e 50 7,724 7,376 | i

il 51 2,109 2,014 | #1

EERIABAL 5 422 403 | s

ﬂ/ﬁ@;‘ﬁ_%) SRV —F 0 T-25 53 12,233 11,682 T%i:ém

B 54 3,728 3,560 | /1

EALVHIET 55 18,437 17,607 | &4

il TR b 5 32,431 30971 | s
HRARY 57 2,225 2,124 | &H

HRL 58 3,768 3,598 | £

7 el 2,844 2716 | 41
e 3,356 3,204 | 41

. e e 2,605 2488 | 41

e 2,951 2818 | 41

o v 2,475 2,363 | 2

MR o7 Ty Hen g 2,951 2,818 | /1

206 O PR e 6 2,382 2,274 | HH

IO T AT ANRER ST | 66 652 622 | 1

T AT 7 M R Aem L T 67 2,775 2,650 | £

SRR R TAT 7 NREERI0emL T | 68 4,752 4538 | #H

T AT 7N Bem AT | 69 6,398 6,110 | /1

. I ) 70 21,709 20,732 | &M

oL A7 () 71 13,535 12,925 | &4

T AT 7NN 2 1,528 1,459 | 71

sy LY — N () 73 2,546 2,431 |

Y — N (8A7) 74 3,501 3,343 | #H

e T D= AT D22 75 12,950 12,367 | &4

S N Shux ve 2,181 2,082 | i
Shox 77 1,846 1,762 | s

2/2



